N,
Nl & &Y =L n
=¥ -} _\ﬁ 1
WINDOWS & DOORS ggg g3
250 Staunton Turnpike, Parkersburg, WV 26104 ( \\\‘\ § > 9
v BRS
: P53 208
8400 Series e &
[ [ ® g gz
Vinyl Awning Window 1

FBPE C.A. No. 9813

' 60" MAX. O.A. FRAME WIDTH j

w
"NON-IMPACT" 2
S B =
o L
0 £ og
s -2
o =Z L
Ll o o=
/ @ g > E L(‘:—)I
o i}
GENERAL NOTES / 8z |2 @%
. . . < // o< [ D,
1. This product has been evaluated and is in compliance with the 6th oQ / £ |19 2
Edition (2017) Florida Building Code (FBC) structural requirements 5T X T o ?I)é
excluding the "High Velocity Hurmicane Zone" (HVHZ). == a |
eE: g |§
2. Product anchors shall be as listed and spaced as shown on details. / — T
Anchor embedment to base material shall be beyond wall dressing /// o I B P
or stucco. 4 olo
i (e
3. When used in areas requiring wind borne debiris protection this ~
. . . . . . Olv—|—
product is required to be protected with an impact resistant covering ZIo|S
that complies with FBC Sections 1609.1.2 & R301.2.1.2. e E %)
Iy =t
ww| g 9
4.  For 2x stud framing construction, anchoring of these units shall be the ; z|zlQ] |2
same as that shown for 2x buck masonry construction. o e é
RI2(=2
Q
5. Site conditions that deviate from the details of this drawing require L&J E E E
further engineering analysis by a licensed engineer or registered i
architect. S
SRR
TABLE OF CONTENTS NSNS
SHEET# | DESCRIPTION _ NSION SIO Sl " T
1 Typical elevations, design pressures and general notes B " . " Il B il
2 Horizontal cross sections 60.0" X 36.0 53.5"X29.5 Gl +50.0 -50.0 DATE: 8/2/12
3 Buck and frame anchoring SCALE:  N.T.S.
4 Bill of materials, components and glazing detail 60.0" X 36.0" 53.5" X 29.5" G2 +55.0 -55.0 E——— UK
CHK. BY: LFS
DRAWING NO.:
FL—15818.1

SHEET ] oF 4

R:\Clients\Wincore PERMANENT\A - Florida Product Approvals\FL-15818 Vinyl Awning Window\C - Drawings\Current\FL-15818.1.dwg, FL-15818.1

© 2012 R.W. BUILDING CONSULTANTS INC.




TON| SINVLIINSNGD aNIgTUINg "M's" 2 102 @

€186 "ON 'v'O 3d€d SNOISIATY
L616°6G9°CLE "ON euoyd mzo%&wwwm‘mmmo Ag 31va JON - ‘
SBGEL T4 'OOHIDA ‘OLZ x08 "O'd \Su@ H sd1 ONIZY19/'d'd_G31vadn| £1/%0/% | L | 21ES i o 4_
,:.mi ..ﬂ%ﬁ:mzoo ONIgTINg "ATBW3SSY ¥0 Ldvd [ yir | 084 (¥102) 03 HIS OL 31vadn|61/8z/i| 2 | M = ® 5
\ . g
N\ N S4711 084 (£102) "G3 HI9 OL 31vadn| z1/i10/9] £ |\ g ~lu
Rt O/ol7s, 60%CH "ON ‘I'd mopuip buiumy jAuip M ONILS3L MIN 804 31vadn|eL/oL/zi] # || | E| &g | _
L, PWIURS "4 uopud S3I¥3S 00%8 a9l BTG
.\“&m peJodesd sjuswnooq 11.0NAo¥d W m Z|3 m %
¥ S45r-2/
('dAL) "awW3
NIW.¥/1-1 {*dAL) “gW3
NIW ¥/ -1

©©)

INTERIOR

TN e
REVANC
T g__ﬁ g

T, i—_ o -“_& : r, _
e ; ,’ ool
| |

8 .r- I ﬁ,‘

T s TR

gy

=
pi il i
S ®

(=)

i
III’

v

b, . . -
- N - A
K g A v AY

/ &\ VERTICAL CROSS SECTION

EXTERIOR

ﬁ/
R A
pv - -
. v
L L A4
: T
> v
. e ok
e
WH T LWL S
<.
v
> v
S
A
¥
i v
v
-
e
v v
-
a4

/J
v e
P v .
- v
L4 -9
N - 14
v .
s )
v v .
S e pok
.q‘ . N
AL S

MB. (TYP.)

/3\ HORIZONTAL CROSS SECTION

\:ZJ Shown direct to masonry

SEE NOTEI E

m HORIZONTAL CROSS SECTION

W Shown w/ 1X buck

D
s
SEENOTE 1
a INTERIOR
Q)
EXTERIOR

nl
o
H

1l
U\
®

FLFITIIIL AL 1T R

©
Emmn-
—

LTI A

7“1\ HORIZONTAL CROSS SECTION

\2/ Shown w/ 2X buck

£ @OV
= - Mm
. Sg (=) >
£Q0 Yy
Q= -
l."m VY v \M P N >
mvzm o v " vW S .
® o L SR Z v .
df vﬂv A.Q . . “ o .. & v
D o0 bl " e B b,
o E > v a 7 oo T
53+ = v - UL ‘
$3
®
eoe
52 £
— N Z =

1'Z ‘Bmp'L°818S L-Td\usLnD\sBuImeiq - D\mopuim Buiumy [AUIA 818SL-T4\s|er0iddy 1onpoid epuold - Y\LNINYINNI 2J00UIM\SIUaIDNY



RClients\Wincore PERMANENT\A - Florida Product Approvals\FL-15818 Vinyl Awning Window\C - Drawings\Current\FL-15818.1.dwg, 3.1

UL LA
SEE SNUBBER DETAIL 0 @ \\\\\
f X 5 7 X A X 1 : Q-.. ”' a
E=C=—C=——c—c— 2csuck (1) / N SSE s z 8
6 (TYP) . \  I5i# ¢ e
MASONRY 8 MAX. O.C - ' 1X BUCK eZa_ ] Oiff <X <=y
% MASONRY 223 SEET
| *] ~— (TYP) %0 e TGS 3248
ST e o TR e &" (TYP. (7 PG ZJdwno
P R | et e SNUBBER DETAIL “uafl 8 RT2
CON e | 1 i 1 s /@ i e E 2328
".-—t F e , | l l N\ g E(D a 4] [}
— MASONRY =% ' N N 22 Bokl
. . - o A LA
4 e S = OPENING S o in N ‘é s §
PSS (TYP.) - 7 s E 3 \|E §2
. - O Chl
= [*] St g
2X BUCK (TYP) d 1 I o Ja
/ FRAME/ (TP ' ! SEETIE BAR o
2X BUCK - . 1 11 i ? ? GUIDE DETAIL =
i i % | ' Lol ‘ .| &
| o
6 (nvp) 213 o LOCK JAMB el
BUCK ANCHORING s g AR e DIRECTTO IR
(TP e MASONRY S§ [P &
il
{THRU OPERATOR) IXBUCK A ; a s
.. = I
2X Buck I | B 8 - g
AT T TPl S
_] & &
wn
MASONRY DIRECT TO LA Z|5| 5|5l
OPENING MASONRY - g{ @ -
m 1X BUCK 218
e 6" {TYP.) - NNE
oA DIRECTTO ~L L RISl
RS I MASONRY 4
N N, VU ~—" IX BUCK i
E g TIE BAR GUIDE DETAIL EENE
P DIRECT TO gl o101g] [
Ao MASONRY B T e N
CONCRETE ANCHOR NOTES: —— 3 é i w|i
. Concrete anchor locations at the comers may be adjusted fo maintain the min. Ty 1X BUCK wE o Sl=ls ’EE)
edge distance to mortar joints. / (TYP.) { - é [N [

2. Concrefe anchor locations noted as "MAX. ON CENTER" must be adjusted to BUCK {TYP.) — = 2 o e )
maintain the min. edge distance to mortar joints, additional concrefe anchors N A gt
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. FRAME 4 1 . SIS

3. Concrete anchor table: i LY EQQQE

e
6" (TYP)) —"'[ I $ <M g
G CH 213"
w31 1-1/4" 3" 1-1/2" 1X BUCK T (TYP) 1X BUCK z:; 8/N2{ 782
TAPCON® [ 1/4" 1-1/4" 7 4 DIRECT TO DIRECTTO .
ELCO ® ]/ A ].]/ - 1" 4" MASONRY MASONRY DWG. BY: JK
ULTRACON (THRU OPERATOR) KEEPER DETAIL ck. . LFS
WOOD SCREW INSTALLATION NOTES: BUCK ANCHORING ” DRAWING NO.:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of 1X Buck Loccteéjf g;c?g\ées}? offom FL—15818.1
wood screws to prevent the splitting of wood. Direct o masonry

SHEET 3 oF _4

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Wincore PERMANENT\A - Florida Product Approvals\FL-15818 Vinyl Awning Window\C - Drawings\Current\FL-15818.1.dwg, 4.1

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
A 1XBUCK SG >=0.42 WOOD
B 2X BUCK SG >=0.42 WOQOD
C 174" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301 OR HOLLOW BLOCK CONCRETE
CONFORMING TO ASTM C90
F #8 X 2-1/2" MODIFIED TRUSS HEAD SCREW (1-1/8" MIN. EMBEDMENT) STEEL
G #8 X 3" PFH WOOD SCREW (1-3/8" MIN. EMBEDMENT) STEEL
H #8 X 3/4" PPH SMS STEEL
J 1/4" X 3-1/4" PFH ELCO OR [TW CONCRETE SCREW STEEL
K 1/4" X 3-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
L #8 X 2-1/2" PPH WOOD SCREW (1-1/2" MIN. EMBEDMENT) STEEL
M 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
N 3/16" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
P 3/16" X 2-3/4" PFH ITW CONCRETE SCREW STEEL
1 FRAME* PVC
2 SASH* PVC
3 GLAZING BEAD* PVC
7 WEATHERSTRIP AMESBURY (CS 120 33-SEAL) FOAM
8 WEATHERSTRIP AMESBURY (12300 SEAL) VINYL
9 WEATHERSTRIP ULTRA FAB .250 (PILE - 250 - KP52) VINYL
10 MULTI-POINT LOCK (TRUTH) W1495-20 -
11 TIE BAR GUIDE ({TRUTH) 2008741 -
12 OPERATOR (TRUTH) 2006468 -
13 [ TIE BAR [TRUTH) 2005287 :
23 KEEPER (TRUTH) W1495-01Wh STEEL
24 SNUBBER (TRUTH) (SASH/FRAME} WCS1-1496-85 -
25 #8 X 1" PFH SMS STEEL
26 #8 X 1/2" PFH SMS STEEL
* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS",
I 5
o™~

~—— 236" ———]

o073 18
T =
2.53" !

( : )SASH

7/
N2,
. -~ [[e]
——— 3/4"THICK GLASS ‘%@ 3
R E N
H - o
1/8" ANNEALED O .o
/“ '..06\\;3 .8 3 "
AIR SPACE SPSEERY
< SEEEEE:
~ \\\\\ 9 - 2
L R Ow o
C‘T'_——_\IDJ T~ 1/8" ANNEALED X 8R.*%
e/ NIEE L ED
116X 1/2 i fs 5%y,
GLAZING TAPE INTERCEPT SPACER (TIN PLATED STEEL] P N 858 2ok
BY LAMATEK . {F ¢ moah
— 1/2" GLASS BITE N s w’
NEsf =
3 U .
e Ccll
@ GLAZING DETAIL g5 X
2
P
[}
S
z =
(&) <
—— 3/4" THICK GLASS ne| 3&
ws | ©9
B o5 v
" Z |3 IN
1/8' TEMPERED SRR
- AR SPACE Sl 17
PRI2 =0
:/— 2= 52
¥ ol = |y 6™
T~ 1/8" TEMPERED 2 ol =
o <| R
o o @
116 X172/ Slolelo
GLAZING TAPE INTERCEPT SPACER (TIN PLATED STEEL) S
BY LAMATEK 1/2" GLASS BITE olo
GLAZING DETAIL e
G2 NS
Zlolo
SN
e HalslS| 2
a 55
B FEEN 2
& ! I
(EEHEE TS i Qieee
—aEdh. e e
B AF36 (1-1/2" Brick Mould) SEEE
U —] dlalale
DID|D|D
IRZ)
- ] . ki,
2 . ! ! SN
3 08 g | SSRISE
} i ~=mpmme) ) £ g il i
SUES b e r—===':f;§§j:'l:‘¥'h éj w|m ey~ C25
t DATE: 8/2/12
! 3 S~ scae N.T.S.
= AF59 (Masonry Flange 1) V672 (Masonry Flange 2) owe. B:  JK
CHK. BY: LFS
GLAZING BEAD DRAWING NO.:
(3)eamie 2EaD OPTIONAL COSMETIC FLANGES FL-15818.1

SHEET 4 oF 4

© 2012 R.W. BUILDING CONSULTANTS ING.




